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Practicing and Solving Addition
- Word Problems with 3 Addends

1. Emma has 12 candies, Alex gives her 5 more, then Mary
gives her 3. How many candies does she have now?

Solve : 12 + 5 + 3 = 20 candies

2. A farmer harvested 25 apples, then picked 7 more, and
later found 4 more. How many apples does he have?

Solve :

3. Ina store, there were 18 shirts. 6 more arrived, and then
5 more were brought. How many shirts are there?

Solve :

4. Tim has 14 marbles, his friend gives him 8, and then he
finds 6 more. How many marbles does he have now?

Solve :

5. Sarah bought 20 pencils, then her brother gave her 9, and
later her friend gave her 2 more. How many pencils does she
have?

Solve :

| 6. There are 15 roses. 4 more red roses bloomed, and then 7
!whi’re roses were added. How many roses are there?

%

Solve :
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